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BACHELOR'S DEGREE PROGRAMME 
(BDP PHILOSOPHY) 

Term-End Examination 
00802 December, 2012 

ELECTIVE COURSE : PHILOSOPHY 

BPY-002 : LOGIC : CLASSICAL AND SYMBOLIC 
LOGIC 

Time : 3 hours 	 Maximum Marks : 100 

Note : (i) Answer all five questions. 

(ii) All questions carry equal marks. 

(iii) Answers to question no. 1 and 2 should be in about 
400 words each. 

1. What is reasoning ? Explain and critically 20 

evaluate both deductive and inductive reasoning. 

OR 

What do you understand by definition ? Explain 20 
its various kinds. 

2. What do you understand by Fallacies ? What are 20 

the types of informal fallacies ? 

OR 

Briefly explain the historical development of 20 
symbolic logic. 
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3. 	Answer any two of the following in about 
200 words each. 
(a) Define Logic. Describe the relationship 10 

between Logic and language. 
(b) What do you understand by denotation and 10 

conotation of a term ? Explain. 
(c) Explain in detail the square of opposition. 	10 

(d) Discuss Inductive Fallacy in detail. 	10 

	

4. 	Answer any four of the following in about 
150 words each. 
(a) What is hypothetical proposition ? 	5 

(b) Discuss truth table method with an 	5 
example. 

(c) Describe dagger function. 	 5 
(d) Write the structure and mood of BARBARA. 	5 

(e) Differentiate between modus ponens and 	5 

modus tollens. 
(f) describe Kant's view on synthetic apriori 	5 

propositions. 

	

5. 	Write short notes on any five of the following in 
about 100 words each. 
(a) major term 	 4 
(b) Figure 	 4 
(c) Constant 	 4 
(d) Polysyllogism. 	 4 

(e) Dilemma 	 4 

(f) Disjunction 	 4 

(g) Logical connectives 	 4 

(h) Implication 	 4 
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5. r TIN TR 4N1Er ( 	rim 100 	-fa-ccruff fru7 I 

(a)  -1a-C 	trq 4 

(b)  3-11-ffff 4 

(c)  31-q7 4 

(d)  (pollysyllogism) 4 

(e)  394-Tfu:411 4 

4 

(g) .dTi*W (443ich (Logical Connectives) 4 

(h) -51f-d-cfr-ff / 3-11:11T9.  (Implication) 4 
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